MAJOR COMPONENT - Quality Intervention

SUB-COMPONENT - Other quality Initiative

ACTIVITY MASTER - Parents Day (Class VI-VIII) – Elementary

ACTIVITY - Parents Day (Class VI-VIII) – Elementary

## 1.Progress Report in r/o Parents Day (Class VI-VIII) – Elementary in AWP& B 2019-20

PAB (2019-20) approved the activity of celebrating Parents' Day in 1019 schools of DoE. Two workshops of 3 days each were conducted for development of modules and feedback proforma. A booklet containing salient features of Happiness Class, translated in Hindi was distributed in all 1026 DoE schools. An amount of Rs.9650/- each was released to 1026 schools for distributing the copies to parents of Classes VI, VII and VIII. The expenditure incurred till date is Rs. 0.702 Lac.

## 2.Proposal for Parents Day (Class VI-VIII) – Elementary in AWP& B 2020-21

## g. Celebration of Grand Parents Day

## **Objective:**

The objective of this activity is to:

- i. Give due recognition to the senior citizens.
- ii. Create a connection between the grandparents and grand children.
- iii. Make the Grandchildren realise that their grandparents are an important part of their lives.

#### **Proposed activity:**

It is proposed to celebrate Grandparents Day on the first Saturday of October.

## Strategy:

It is proposed to celebrate Grand Parents Day for the students of primary section (class-Nur and I to V) of DOE/MCD/DCB/NDMC Schools. Handmade invitation cards by the children will be sent to the Grandparents .Some interesting activities involving the grandparents and grand children will be organised to create bonding and healthy relationship and to make it a memorable day for both.

#### Justification/Rationale:

With the breakdown of joint family system, grandparents are increasingly alienated and do not get to enjoy the growing stage of their grand children. Through this activity, it is proposed to reignite the bond between the Grandparents and Grand children.

## **Financial Implications:**

(Fin. In lac)

Activity	Physical Target (Enrolment of classes Nur – V)	Unit Cost	Financial Outlay
Celebration of Grand Parents Day	900880 (Enrolment)	0.005	4504.4

Source-UDISE 2018-19

(Fin. In lac)

Sr. No.	District	Boys	Girls	Total	Unit Cost	Fin.
1	East	45754	50091	95845	0.005	479.225
2	North East	55180	63596	118776	0.005	593.88
3	North	20469	21844	42313	0.005	211.565
4	North West A	53387	57416	110803	0.005	554.015
5	North West B	58986	63159	122145	0.005	610.725
6	West A	27434	29579	57013	0.005	285.065
7	West B	40712	47573	88285	0.005	441.425
8	South West A	15868	16810	32678	0.005	163.39
9	South West B	30994	33365	64359	0.005	321.795

10	South	23584	27154	50738	0.005	253.69
11	South East	38325	44079	82404	0.005	412.02
12	New Delhi	7933	7077	15010	0.005	75.05
13	Central	10439	10072	20511	0.005	102.555
	Grand Total	429065	471815	900880		4504.400

## **Expected Outcome:**

- The activity will help generate a healthy bonding between the Grandparents and Grand children.
- Children have an opportunity to show their appreciation and love towards their grandparents and grandparents will feel valued as their role in the life of their grandchildren is validated.

It will be an opportunity to honour and express gratitude towards their constant love, care, and support.

## **3.Recommendation of Technical Support Group (TSG)**

Celebration	0	0	900880	4504.4	0	0	Objectives of the	
of Grand							proposed	
Parents Day							intervention (1)	
							due recognition	
							to the senior	
							citizens	
							(2)ii.Create a	
							connect between	
							the grandparents	
							and grand	
							children.(3)iii.	
							Make the	
							Grandchildren	
							realise that their	
							grandparents are	
							an important part	
							of their lives.	

T			
			Coverage:
			primary section
			(class-Nur and I
			to V) of
			DOE/MCD/DCB/N
			DMC Schools.
			Method of
			Implementation:
			to celebrate
			Grandparents
			Day on the first
			Saturday of
			October
			Observation:
			Celebration of
			days i.e. Mother
			Day, Father Day,
			Women Days etc.
			are the inevitable
			events in school
			education.
			Generally about
			more than 100
			days are
			celebrating by
			our schools
			within 180
			working days.
			Delhi
			government may
			celebrate "Grand
			Parents Day" day
			from own fund.
			Due to shortage of fund and
			COVID-19
			situation,
			Samagra Shiksha
			could not provide

			financial	support
			for	the
			Celebrati	on of
			Grand	Parents
			Day	
			•	

# **4.Costing Sheet of Plan Approval Board**

Sub Component	Activity Master	Level	Physical	Unit Cost	Financial (In Iac)
	Celebration of Grand Parents Day		900880	0.005	4504.4